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Indicate the correct answer with an X.
1. Spatial analysis is concerned with (A) size, location, population; (B) size, topography, climate; (C) size, location, physiography; (D) size, location, geography.
2. A small country is one with population size and land area respectively of: (A) less than 5 million and 15,000 sq. kms; (B) less than 10 million and 20,000 sq.kms; (C) less than 10 million and 25,000 sq.kms; (D) less than 5 million and 25,0000 sq. kms.
3. Which does not apply? Small countries have: (A) a small range of public institutions;
(B) have informal political processes; (C) suffer from corruption; (D) tend to be more centralized.
4. When a country has limited government capacity, population skills and economic resources, it suffers from a problem of: (A) viability; (B) vulnerability; (C) both; (D) small size.
5. Which does not fit? Small countries suffer from: (A) diseconomies of scale; (B) dependence on foreign investments; (C) price-taking; (D) dependence on foreign debt.
6. Which is most untrue? Concerns about viability is such that (A) thirteen Caribbean countries remain political dependencies; (B) Caribbean states formed a political federation; (C) Caribbean states are forming a market and economy; (D) Caribbean states would have been better off without independence;
7. Which is least true? Concerns with vulnerability are such that Caribbean states must be worried about (A) climate change; (B) international criminality; (C) military invasion; (D) natural disasters.
8. Say which is not a part of Blackman's Barbados Model: (A) accident of geography;
(B) education of the slaves; (C) the settler mentality; (D) economic luck.
9. Which does not describe a common history of Jamaica and Barbados? Both were: (A) settler colonies of Britain; (B) colonized in the C17th; (C) first phase colonies; (D) Experienced the old representative system.
10. Which did Blackman believe was probably the most important historical accident of Barbados: (A) long, uninterrupted development; (B) long experience with representative government; (C) early exposure to education; (D) nationally oriented elite without absenteeism.

11. Which does not apply? The Historical approach is valuable because it shows: (A) social depth analysis; (B) similarities and differences; (C) development patterns; (D) the special importance of size.

12. Which is the odd one out? Because Barbados is small, flat and unforrested, (A) it was difficult for the Arawaks to settle; (B) it was easy for the British colonists to control the slaves; (C) there was no labour shortage and no need to import indentured labour;

(D) it was easier for many to access education.

13. It would not be true to say that a historical comparison of Jamaica and Barbados would conclude that a big difference has been made by: (A) size, location and physiography; (B) one being a colony of conquest and the other being a colony of settlement; (C) the different periods of colonization; (D) the length of slavery.

14. Which author would you not associate with the social-psychological perspective on the legacy of slavery: (A) M.G. Smith; (B) Na'im Akbar; (C) Carl Stone; (D) Katrin Norris.

15. With what description or condition would you associate the attempt to approximate the looks, behaviour and dress of Europe? (A) cultural pluralism; (B) the 'white bias';

(C) the Creole society; (D) colour discrimination.

16. Which school of thought would you not associate with the cultural-anthropological perspective: (A) the paternalist school; (B) the social stratification school; (C) the Creole school; (D) the plural society school.

17. Who is the author of "Breaking the Psychological Chains of Slavery"? (A) M.G. Smith; (B) Na'im Akbar, (C) Carl Stone; (D) Lloyd Brathwaite.

18. Which of the following legacies would culturalists not trace values and attitudes: (A) race; (B) slavery; (C) colonialism; (D) the plantation society.

19. Which of the following would you think of as a middle class leader: (A) Alexander Bustamante; (B) Eric Williams; (C) Vere Bird; (D) Eric Gairy.

20. Which is not true? Middle and working class leaders formed or first participated in:

(A) political parties and trade unions; (B) elections under adult suffrage; (C) constitutional change and independence; (D) university education overseas.

21. Which leader and country do not match? (A) Vere Bird - Antigua; (B) Cheddi Jagan - Guyana; (C) Grantley Adams - Grenada; (D) Eric Williams - Trinidad and Tobago.
22. Which is nottrue? Generally speaking: (A) middle class leaders formed parties first;
labour leaders formed trade unions first; (B) middle class leaders were literate;
working class leaders were not; (C) middle class leaders were more democratic;
working class leaders were more authoritarian; (D) middle class leaders had an intellectual appeal; working class leaders had a charismatic appeal.
23. The Book, "The Hero and the Crowd in a Colonial Polity" studied certain kinds of leaders and was written by: (A) Eric Williams; (B) Carl Stone; (C) Norman Manley;
(D) Archie Singham.
24. Which does not apply? Middle class leaders were: (A) exposed to ideas of democracy; (B) exposed to ideas of racism; (C) exposed to education in law; (D) exposed to anti-colonial activists.
25. Identify the incorrect answer. The Anglo-Caribbean's more democratic tradition is explained by: (A) longer exposure to the idea of representation; (B) Britain's interest in transferring the Westminster model; (C) the anti-communist influence of the United States; (D) the exposure of their nationalist leaders to the British model.
26. Which does not fit? The Latin Caribbean's more authoritarian tradition is explained by: (A) the tradition of direct colonial rule: (B) negotiating for independence; (C) the support of the US by dictators; (D) the undemocratic traditions of Spain and France at their independence.
27. Which dictator and country do not match: (A) Duvalier - Haiti/ Trujillo - Dominican Republic; (B) Batista - Cuba/ Duvalier - Haiti; (C) Batista - Cuba/ Trujillo - Haiti;
(D) Duvalier - Haiti/ Batista - Cuba.
28. Which pair of countries representing the Latin and Anglo-Caribbean got
Independence the earliest? (A) Dominican Republic and Jamaica; (B) Haiti and Jamaica; (C) Cuba and Trinidad and Tobago; (D) Haiti and Trinidad and Tobago.
29. Which would you not necessarily associate with a democratic tradition? (A) rule of law; (B) political independence; (C) constitutionalism; (D) representative government.
30. Which is least correct? The democratic tradition rests on (A) accountable government; (B) competitive politics; (C) free elections; (D) constitutional government.
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